P37=P40=P41=P42

NIVEL 1-L3

SECAO
ESC 1:20

15

30
=
VISTAH

N

VISTAB

24

9
20 N2 85.0 C=77

9
2x4 N3 5.0 C=54

P60

SECAOQ
ESC 1:20

15

30
=
VISTAH

=

VISTAB

24

9
34 N2 25.0 C=77

9
2x5 N3 5.0 C=54

40
"2x4 N3 ¢/12

277
4 N12 ¢10.0 C=277

240
20 N2 c/12

%

=75
60

\
“\/

38
2N14 ¢10.0C

520

460
4 N21¢16.0C

P38

SECAO
ESC 1:20

%

30
=
VISTAH

=
VISTAB

24
N7
12

24 N8 ¢5.0 C=83
24 N7 85.0 C=27

P1

NIVEL 2 -L4

- L =

7 2x4 N3 95.0 C=54

SECAO
ESC 1:20

15

30
o~
VISTAH

N

VISTAB

60
2x5 N3 ¢/12

71

NIVEL 1-13

400
34 N2 c/12

VISTAH
ESC 1:25

0C
0C
4 N1 25.0 C=24

277
6 N12 10.0 C=277

7
24

P6=P56

NIVEL 2 - L4

SECAO
ESC 1:20

25

25

N

VISTAH

P
VISTA B

o
19

19
29 N6 ¢5.0 C=87

NIVEL 1-L3

VISTAB
ESC 1:25

280
24 N8 c/12

342

P45

NIVEL 1 -L3

SECAO
ESC 1:20

LA[mk

30
=
VISTAH

=
VISTAB

24

9
19 N2 ¢5.0 C=77

VISTAB
ESC 1:25

N
(o2}
I
O
o
S|o
RS
o
z
©
VISTA B
ESC 1:25
AN
<
bis
O
o
S
s
z
<

40
"2%x4 N3 c/12)

155
13 N2 ¢c/12

345
29 N6 c¢/12

VISTAH
ESC 1:25

P2=P59

SECAO
ESC 1:20

15

30
P
VISTAH

o~
VISTAB

P55

NIVEL 2 - L4

SECAOQ
ESC 1:20

25

25

=

VISTAH

P
VISTA B

e

19
35 N6 85.0 C=87

NIVEL 1 -L3

P55

=277

277
280
19 N2 ¢/15

4N17 2125C

13 N2 5.0 C=77 2x4 N3 5.0 C=54

342
4 N16 912.5 C=342

ESC 1:25

NIVEL 1-L3 v -

SECAO
ESC 1:20

25
P
VISTAH

=
VISTAB

G

19
34 N6 #5.0 C=87

=),

19
2x5 N9 5.0 C=69

VISTAH VISTA B
ESC 1:25 ESC 1:25
655
o g
°
olm
<z
<
X
4N
24 %
T
(@)
o
S|c ~
2/S o
S 8l
= —|Z
~ ©
460
ﬁ —_— = — — —
VISTAB
ESC 1:25 _U®O
L \Zme_.\m -WA \\\
SECAOQ
ESC 1:20
15
T
<€
= (=
s
9
e 20 N2 g5
VISTA B 20 N1 @5
5N1 g5

345
35 N6 c/10

NIVEL 1-L3

VISTAH

VISTAB
ESC 1:25

=94

4N182125C

47

=457

457
8 N13210.0 C

60
i

2x5 N9 c/12

71

400
34 N6 c/12

NVEL2-L4
SECAO
ESC 1:20
30
T in
o A _Am
™ )
S
24
P
VISTAB
'NIVEL 1-L3
655
\\\\\\ v o
24 _M__u 24 =
N1
9
.0 C=77 2x5 N3 95.0 C=54
0C=24
0C=24

P56
NIVEL1-L3
mmmﬁo
ESC 1:20
25
[
T
<€
2 (&
S
P
VISTA B
19

42 N6 95.0 C=87

2x4 N9 5.0 C=69

VISTAH
ESC 1:25

13 N4 25.0 C=107 2x4 N5 ¢5.0 C=84

VISTAB

ESC 1:25

=192

192
6 N10210.0C

60

520

460
4 N212816.0C

"2x4 N5 c/12

192
4 N15 212.5 C=192

155
13 N4 ¢/12

71

40
" 2x5 N3 c/8

155
20 N2 ¢/8

VISTAB
ESC 1:25

P5

NIVEL 2-L4

SECAO
ESC 1:20

25
=

25
o~

=
VISTAB

|—|

19

19
23 N6 85.0 C=87

NIVEL 1-L3

40
"2x4 N9 ¢/10

420
42 N6 ¢/10

VISTAH

P59

SECAO
ESC 1:20

LN

30
=
VISTAH

N

VISTAB

24

9
39 N2 85.0 C=77

9

2x4 N3 85.0 C=54

VISTAH
ESC 1:25

342
4N162125C

=342

345
23 N6 ¢c/15

VISTAH VISTAB

RELAGAO DO ACO

ESC 1:25 ESC 1:25
P1-L4 2xP2-L4 4xP3-L4
P5-L4 2xP6-L4 4xP37-L3
\_\ T P38-L3 P45-L3 P55-L4
P55-L3 P56-L3 P59-L3
P60-L4 P60-L3
S ACO N DIAM | QUANT | C.UNIT | C.TOTAL
(mm) (cm) (cm)
. CA60 1 5.0 42 24 1008
T I s 2 5.0 231 77 17787
© 3 5.0 84 54 4536
Q2 4 5.0 52| 107 5564
< 5 5.0 32 84 2688
| & 6 5.0 192 87 16704
I 7 5.0 24 27 648
8 5.0 24 83 1992
9 5.0 18 69 1242
CA50 10 10.0 20 192 3840
11 10.0 8 342 2736
12 10.0 22 277 6094
13 10.0 8 457 3656
14 10.0 2 75 150
15 12.5 16 192 3072
16 12.5 8 342 2736
17 12.5 4 277 1108
18 12.5 4 94 376
19 12.5 4 457 1828
20 12.5 4 507 2028
21 16.0 8 520 4160
RESUMO DO AGO
AGO | DIAM | C.TOTAL | PESO+10%
LS (mm) (m) (kg)
b 0 CA50 10.0 164.8 111.7
(@] o 12.5 111.5 118.1
~|2 o2 16.0 416 72.2
Q1Y <9 = CA60 5.0 521.7 88.5
> |9 ol PESO TOTAL
z |Z <z (kg)
< < o
«© CA50 302.1
CA60 88.5
Volume de concreto (C-25) = 3.69 m®
Area de forma = 62.95 m?
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